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INSTRUCTIONS TO CANDIDATES

Fill in the OMR sheet carefully as per the instructions given on the back of the OMR
Sheet / Admit Card. OMR sheet not correctly filled in will not be valued.

Write your Roll Number (all eight digits) and Version as B on the Question Booklet
and on the left hand side of the OMR sheet (basic data part).

The examination consists of 100 Objective type multiple choice questions, which are to
be answered in 80 minutes.

After opening the Question Booklet ensure that there are 100 Questions and that the
printing of all the questions are legible. If there are any missing or illegibly printed
questions, the matter may be reported to the Invigilator immediately

There are 4 options (A, B, C & D) for each objective type question. Mark the most
appropriate answer to each question by blackening fully the corresponding bubble in the
OMR sheet with a black/blue ink ball point pen. For every correct answer 1 mark
will be awarded and for every incorrect answer 1/4 mark will be deducted from the total
marks scored. No deduction of mark will be made for unanswered questions.
Marking of more than one bubble against a question number in the OMR sheet shall be
considered as an incorrect answer. Erasing, overwriting, partial marking, etc. shall also
be treated as incorrect answer.

Rough work and calculations can be made in the blank pages attached to the question
booklet. Watch, Calculator, Mobile phone. Electronic instruments etc. shall not be
allowed in the examination hall.

The OMR Sheet and the Hall Ticket should be returned to the Invigilator. The
Counterfoil of the Hall Ticket and Question Booklet and candidates copy of the OMR
answer sheet can be retained by the candidate after the examination.

Answer keys will be published in the website www.lbscentre.kerala.gov.in after the
examination. Complaints, if any, from the candidates regarding the questions,
responses / probable answer may be sent tothe Email id ddcc.lbs@kerala.gov.in
before 5.00 p.m. within three calendar days from the date of publication of the answer keys.
Complaints not substantiated with supporting documents will not be considered.
However the decision of the experts regarding such complaints on the answer keys shall
be final.

The Answer sheet of candidates who indulge in malpractice in any form shall not be
valued.

The candidates will be allowed to leave the hall only after the completion of the
examination time and after handing over the Answer sheet to the Invigilator.
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Questions 1- 23. Choose the most appropriate of the options provided to answer
the questions/fill in the blanks.

Make sure that you drive ------ the maximum speed limit.

A) under B) in C) with D) between
The management has ------- legal advice on the issue.

A)  asked B) enquired C)  sought D)  stayed
The Secretary was blamed when the company was -----=- to court.

A) sent B) taken ) thrown D)  sued

It’s ----=- legal to elect a qualified candidate to the Board of Directors.

A) perpetually B)  exceedingly C) extremely D) perfectly

Any employee has the right to appeal an ------ dismissal.
A) unsolicited B) untimely C) unfair D) uncalled

I didn’t like------ my parents.
A) leave B) leaving ) leaving off D)  leave away

Pick the word spelt incorrectly:
A) madrigal B) magenta C) magnolia D)  matinie

Pick the correctly spelt word:

A)  significent B) sanguvine C)  severel D)  deceive
Pick the synonym for “wealthy’:

A)  opulent B) effluent ©) industrious D)  industrial
They blame youth crime------ unemployment.

A)  for B) of C) ol Dyroain

The idiom ‘long in the tooth” means:
A)  aged B)  hungry C) cheerful D)  angry

Though born British, he was-----as an Indian citizen:
A)  naturalised B) nationalised C)  nativised D)  domiciled

Choose the grammatically correct statement:
A)  Did you do the dishes? B)  Did you seat the dishes?
C) Didyou feed the dishes? D) Did you salt the dishes?
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The expression ‘I need to use the facilities’ is an instance of:
A) Euphemism B) Exclamation C) Extremism D) Incantation

Hardly had he closed his eyes ----- he fell asleep.

A) then B) when C) since D) as
------ the child was unforgivable.
A) To have beaten B) Having beaten
C)  Having to beat D)  Having still beaten
. People insure their houses----they catch fire.
A) if B) if at all ©) in case D) in fact
Only my tutor truly ----- me.
A)  understand B)  understands
C)  do understand D)  don’t understand

A question directed to an expert witness, based on the existence of facts offered
in evidence, and the answer to which is an opinion to be considered in light of
the evidence is a------ question:

A)  hypothetical B)  rhetorical C) rogatory D)  hypocritical

A question so framed or presented as to suggest a particular answer is a/an -----
question:

A) obscure B) obscurantist C) leading D)  leveraging

The plural form of ‘jury’ is:
A)  jury B)  juror C)  juriae D)  juries

Guilt must be proved in court beyond-----doubt.
A)  reasonable B)  unreasonable C) iotal D)  total

Something that has already been cancelled and therefore invalid is --- and void:
A) il B) null ©) vacuum D)  vacuous

Qns. 24 & 25- Pick out the part of the sentence that contains an error, or pick D
to indicate there is no error in it:

You can move your money  atatime  ofyour choice.
A) B) C) D)

I would not live ~ anywhere else  in India
A) B) 0 D)
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The value of k if §:k=izz is:

6 3B
7 7. 7 5
A e B — € — D =
) 6 ) 8 ) 10 ) )

A number leaves remainder 2 on division by 3, 3 on division by 4, 4 on division
by 5, 5 on division by 6 and 6 on division by 7. The smallest such number is:
A) 219 B o2t 0) 419 D) 421

Which of the following number is divisible by 13?
Ay 3PP =31 B . 2 -31 ¢ 31" —~31 1y31tt—31

The number 121121 is successively divided by 7, 11, and 13. What is the value
of the quotient?

A) 121 B) 1211 C) 1001 D) 101
The value of 111.11 x 11 111 = ~=memme,
A) 12345.4321 B) 123456.54321
C) 1234.54321 D) 1357.75321
The value of 7+Z+§_>< e 2=?
Dcedl ' 5
41 73
A) 15 B) 8 C) ? D) —5—

A shop owner is selling an item for Rs. 75. If his profit percentage is equal to
the cost of the item, then, the cost of the item is:
Ay 75 B) 60 C) 65 D) 50

The sum of three consecutive multiples of 3 is 72. Which is the smallest number?
A) 18 B) 24 CY-udi e 27

The salary of an employee was first raised by 10% and then reduced by 5%. If
he presently draws Rs.20900, what was his original salary?
A) Rs.21000 B) Rs. 19000 C) Rs.20000 D) Rs.20200

In an examination, out of 8000 candidates appeared.75% of the candidates
offered mathematics while 40% offered economics. Each offered either

mathematics or economics, how many offered both?
A) 2400 B) 1200 C) 1600 D) 1500

A man rows 14 km upstream in 5 hours and 26 km downstream in 5 hours. The

velocity of the stream is?
A) 1.2 km/hour B) 1.3km/hour C) 1.4km/hour D) 1.5km/hour
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If a and b are positive numbers, then the minimum value of (a+b)x( l+%) is:
d

5 I By, 2 ) .25 D) 4

The value of V567 + V343 _ /847 jq.
A) 63 By 175 c) V350 D) V441

The ratio of the speeds of two cars is 4:6. If the distances they travel are in the
ratio 5:8, then, the ratio of the times taken them is:

Ry T2 B) 15:16 C) 15:18 D) 9:14

The value of 110889 = 999 is:
A) 1221 B) 1111 C) 111 D) 121

The positions of how many letters in the word “DEMOGRAPHY™ will remain
unchanged when the letters within the word are arranged alphabetically?
AL 8 B) 1 n. 2 Dy 3

Choose the correct term to complete the series:
0.5.14, _,44,65
Ay 27 B} 29 €. 3 DN 53

Some of the letters of the series “a ¢ ab ba cc” are missing which are given
in that order as one of the alternatives given below. Choose the correct alternative.
A) bcea B) bacb ) bbca D) acab

Four groups of letters are given, of which three are alike in some way and one
is different. Find the one which is different.
A)  QPMN B) VURS &) T UTOR D)  SRPQ

Out of 100 families in a village, 50 have mobile phones, 70 have televisions, 20
have radios. Only 10 families have all the three and each radio owner also has a
television. If 30families have mobile phones only, how many have only television?
A) 35 B) 50 C) 45 D) 40

Read the following and answer Qn. No. 46 & 47.

A cube formed with 64 small cubes of equal size is painted with 2 different
colors so that the opposite sides have different colors.

How many small cubes are there painted exactly two sides with same color?
A) 12 B) 8 C) 16 D) 4
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How many small cubes are there painted exactly 3 sides with same color?
A) 4 By 2 O @ D) '6

Eight persons P,Q.R.S.T.U,V and W are sitting around a round table in the same
order clockwise at equal distances. If U sits in the South, then what will be the
position of P?

A)  West-North B) West C) South-West D)  West

In a certain code SUN=27, MOON = 51, then, KING = ?
A) 41 B) 40 C) 67 DY) “'55

An arrangement of symbols, numbers and letters is given below:
AB4P@QR#3T5R%USWI*9L#YK&HSN

How many letters are there which is either immediately preceded by a symbol or
immediately followed by a number but not both?

A) 4 B ) C) 6 ) T
The winner of the International Booker Prize 2023:

A)  Geetanjali Shree B)  Georgi Gospodinov

C)  Daisy Rockwell D)  Shehan Karunatilaka

The first printed newspaper in India was started by:
A) M.N.Roy B)  James Hicky
C) Raja Rammohun Roy D)  Benjamin Bailey

The logo that appears in front of the Vande Bharat, the semi-high-speed train,
flagged off in Kerala in April 2023:

A) Vande Bharat in English  B) Vande Bharat in Hindi

C) ICF D) Running cheetah

The 49" Summit of G7 countries was held in May 2023 in:
A) NewDelhi B) Canberra C)  Hiroshima D) Washington

Identify the system software in a computer:
A)  Ubuntu B)  Microsoft Bing
C) MS Word D)  Google Chrome

Kilobyte, Megabyte, Gigabyte, Terabyte, Petabyte, Exabyte, ------- :
A)  Nibble B) Brontobyte C)  Yottabyte D) Zettabyte

Universal Al University, India’s first university to impart degree and
postgraduate courses in Artificial Intelligence and Future Technologies, is
coming up in:

A) Kerala B) Tamil Nadu C) Maharashtra D)  New Delhi
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An annual festival of Nagaland which is termed as ‘festival of festivals’:
A)  Hornbill festival B)  Nabakalebara festival
O) Rath Yatra festival D)  Bihu festival

With the joining of Finland in April 2023, number of member countries in thé¢
military alliance NATO?
A) 35 B) 3l c) 29 5 3 Y |

The first tribal woman from Kerala to represent India in women’s cricket:
A)  Deepti B) Minnumani C) Muthumani D)  Jayalekshmi

Identify the correct statements about pH value from the following:

i pH stands for potential of hydrogen

2. pH less than 7 are alkaline

3. Pure water has pH value of 7

4. pH scale was devised by Soren Sorensen

A) 1, 2 and 3 only B) 2, 3 and 4 only
C) 1. 3 and 4 only D) 1 and 2 only

Examine the following statements about Right to Information Act 2005 and its
amendments and identify the correct ones.

i A RTI Act is now applicable to the entire territory of India

2. Political parties do not fall within the purview of the Act.

3. Persons below the poverty line are exempted from remitting the
application fee for getting information.

4. While tendering an application, reason for seeking information should
be shown.

A) 1,2 and 3 only B) 3 and 4 only

<) land 4 only D) 1,2,3and 4

Match the following CEOs of Indian origin with their international organization.

List 1 List 2

a. Ajay Banga 1. IBM

b. Satya Nadella 2. Alphabet

¢. Arvind Krishna 3. World Bank

d. Sundar Pichai 4. Microsoft

A) a-4, b-3, c-1, d-2 B) a-3, b-4, c-1, d-2

C) a2,b-3,c-4,d-1 D) a-2,b-3,c-1,d-4

The present Chief Justice of Kerala:

A) S. Manikumar B) S. V. Bhatti

C)  Antony Dominic D)  Cyriac Joseph
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Assertion (A): Coronary heart disease refers to heart damage due to poor
blood flow to the heart.

Reason (R): The weakness of lungs to supply enough oxygen to the heart is
the reason.

A)  Both (A) and (R) are true and (R) is the correct explanation of (A)
B) (A) is true but (R) is false
C) (A) is false but (R) is true
D)  Both (A) and (R) are false

Assertion (A): Doctors and dieticians advise diets with high fibre content.
Reason (R): A high-fibre diet helps reduce the risk of obesity, heart disease
and diabetes.

A)  Both (A) and (R) are true and (R) is the correct explanation of (A)
B) (A) is true but (R) is false
C) (A) is false but (R) is true
D)  Both (A) and (R) are false

El Nino. the warm ocean current flows along the coast of:
A) Brazil B) Peru C) Chili D) Columbia

From the following statements, identify the incorrect ones.

1. Both Lakshadweep and Andaman-Nicobar Islands are located in the Arabian Sea
2. In terms of area, India is the seventh largest country in the world

3. Canada is the largest country in the Americas

4. Pakistan shares the longest border with India

A) |1 and 4 only B) 2 and 4 only C) 2 and 3 only D) 1 and 3 only

Indicate the persons who participated from India in all the three Round Table
Conferences of 1930-1932 from the following.

1. Mahatma Gandhi 2. Jawaharlal Nehru

3. B. R. Ambedkar 4. Tej Bahadur Sapru

A) land2only B) 2and3only C) 3 and4only D) 1 and 3 only

The Malayalam film ‘Elipathayam’ directed by Adoor Gopalakrishnan which
has received a place in the International Federation of film critics list of 10 best
Indian films of all time was produced by:

A) P T Kunju Mohammed B) K Ravindranathan Nair

C) T E Vasudevan D) P KR Pillai

Which of the following union territories in India do not have a sea shore?
1. Pondicherry 2 Chandigarh
3. Dadra Nagar Haveli and Daman & Diu 4. Delhi

A) land2only B) 2and3only C) 3and4only D) 2and4only
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Who of the following came out first in the 2023 TIME 100 Reader Poll for the
TIME magazine's annual list of the most influential people?
A)  King Charles III B) Shah Rukh Khan
C)  Prince Harry D)  Lionel Messi

Regulator of the stock markets in India is:
A) SEBI B) RBI C) IRDAI D) DRI

The first Indian captain to register hundreds in all three formats of cricket — test,

one-day and T-20?

A) Sachin Tendulkar B) Virat Kohli

O) Rohit Sharma D)  Saurav Ganguly
The present Minister for Law, Govt. of Kerala:

A)  Saji Cherian B) K Radhakrshnan
C) P Rajeev D) M B Rajesh

Author of ‘The Court and the Constitution of India’:
A)  Justice VR Krishna Iyer B)  Justice O Chinnappa Reddy
C)  Justice K K Mathew D)  Justice P N Bhagavati

Justice Dhananjaya Y. Chandrachud is the ----- Chief Justice of India.
A) 50" B} 46" 6 R . v D)t 43™

‘Jus Cogens’ means:

A)  An usage of International Law

B) Peremptory norm of International Law
C) An International Custom

D)  All the above

The Non-permanent members of the Security Council of United Nations are
elected for a term of ----years.
A)  three B) two O) four Dy  five

The Justice who gave dissenting judgment in the land mark case “ADM
Jabalpur Vs Shiv Khant Shukla™:

A) A N Ray B) V V Chandrachud

C) H R Khanna D) P N Bhagavati

The Constitutional Amendment in which it was stated that the election of the
Prime Minister could mot be challenged by the Supreme Court :
A) 35" B) 42™ [ R | i D) 44"

The fundamental Rights guaranteed under Articles ---- cannot be suspended
during National Emergency.
A)  14&21 B) 19&21 Cy - 21 &22 D) 20&21
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" The current Chairperson of Press Council of India:

A)  Justice Hima Kohli B) Justice Ranjana Prakash Desai
C)  Justice Bela Trivedi D)  Justice Sujata Manohar

The judgment of the Supreme Court of India in which it was ruled that the
selection of Chief Election Commissioner and Election C ommissioners are to be
done by a committee comprising the Prime Minister. Leader of opposition and
Chief justice of India:

A)  Common Cause, A registered Society Vs Union of India

B)  Om Prakash Srivastava Vs Election Commission of India

C) A C Jose Vs Sivan Pillai & Others

D)  Anoop Baranwal Vs Union of India

The CBI Director is appointed by the President on the recommendation of:

A) A committee consisting of the Prime minlster, Leader of opposition in
Ioksabha and Chief justice of India

B)  Council of ministers headed by Prime minister

C)  The Chief justice of India and senior most judges

D)  The Union Home ministry

Justice J C Shah Commission was appointed to find out:
A) Backward castes for reservation

B) Inter- state relationship

C)  The excesses of the emergency

D)  Election reforms

The B P Mandal Commission was appointed by:
A) Indira Gandhi B) Lal Bahadur shstri
C) Charan Singh D) Morarji Desai

The Judge who made a dissenting opinion in Janhit Abhiyan Vs Union of India
case ( EWS reservation case):

A) Justice Ravindra Bhat B) Justice B M Trivedi

©) Justice ] B Pardiwala D) Justice Dinesh Maheswari

The Supreme Court judgment in which it was declared that Section 377 of
Indian Penal Code was unconstitutional:

A) K S Puttaswamy Vs Union of India

B)  Navtej Singh Johar Vs Union of India

C)  Kharak Singh Vs State of Uttar Pradesh

D)  Vishaka Vs State of Rajasthan

The President of India, not a recipient of Bharat Ratna:

A)  Zakir Hussain B)  Sarvepalli Radhakrishnan
C) R Venkataraman D) VVGir
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91.  The maximum possible strength of judges in the Supreme Court including the
Chief Justice:
A) 35 B) 34 )1 5,:30 D) 28

92.  The former judge of the Supreme Court of India who was appointed as Judge of
the Supreme Court of Fiji:
A)  Justice Chalameswar B)  Justice Madan B Lokur
C)  Justice Kurian Joseph D)  Justice Pankaj Mital

93.  The Criminal law (Amendment) Act 2013 was passed in the aftermath of the
Nirbhaya case based on the recommendation of:

A)  Justice NV Ramana B)  Justice Uday Umesh Lalit
C)  JusticeJ S Varma D)  Justice Dipak Misra
94,  Disclosure of identity of the rape victim is punishable under Section ---- of IPC.
A) 166 A B) 228A C) 154A D)y  376E
95. “Wandering in Many Worlds” is the autobiography of:
A) Justice H R Khanna B) Justice Bhagavati
C)  Justice A N Ray D)  Justice V R Krishna Iyer

96. In all offence of robbery there is either theft or ----- ’
A)  Extortion B)  Cheating
C) Criminal breach of trust D) Mischief

97.  “Doctrine of frustration’ means:
A)  Parties to a contract create a new contract in place of the old one
B)  One of the parties waives his rights in a contract
C)  When the performance of the contract become impossible, the promisor is
excused from the performance of the contract
D)  Promisee accepts the part performed and relinquish the non-performed part

98.  “All human beings are born free and equal in dignity and rights”. The above
statement is Article 1 of :
A) The U N Charter
B) The Indian Constitution
C)  The Universal Declaration of Human Rights
D)  The Conventions on Civil and Political Rights

99.  Ambedkar Jayanti is celebrated on:
A)  April14" B) May 5" C)  November 26" D) December 5"

100. The First Education Minister of Government of Kerala:
A)  Justice V R Krishna Iyer B) C Achutha Menon
C) KR Gowri Amma D)  Joseph Mundassery
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